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SPPI 14B Calculation

# of youth who are no longer in secondary school, had IEPs in effect at the time they left
school and were enrolled in higher education or competitively employed within one year
of leaving high school

Divided by

# of respondent youth who are no longer in secondary school and had IEPs in effect at the
time they left school B

Multiplied by

100

(Data reported in PEIMS / TSDS SPPI 14 Collection Based on Exit Data)

SPPI 14B Calculation Example

Respondent youth who are no longer in secondary school and had IEPs in effect at

the time they left school #
a. enrolled in higher education within one year of leaving high school 1,000
b. competitively employed within one year of leaving high school 1,500

c. enrolled in some other post-secondary education or training program within
one year of leaving high school (but not enrolled in higher education or
competitively employed) 200

d. in some other employment within one year of leaving high school (but not
enrolled in higher education, some other post-secondary education or training

program, or competitively employed) 400
e. Total respondent youth who are no longer in secondary school and had IEPs
in effect at the time they left school (a+ b + c + d) 4,000
' Enrolled in Higher Education or Competitively Employed Calculation
: Percentage = [(a +b) / e)] x 100

=[(1,000 + 1,500 / 4,000)] x 100
= (2,500 / 4,000) x 100
=.63x 100
=63%
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